

ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
			Global CM505-W 4-Pack		
CPL 1	3	CE8CP17	17" Mesh Jumper	\$ 120.00	\$360.00
2	1	CE8FR1	Skipped Option 72" Long, Reversible Floor Power Entry	\$ 347.00	\$347.00
3	2	CE8RD1	Skipped Option Utility Circuit #1, Duplex Receptacle	\$ 33.00	\$66.00
4	2	CE8RD2	Skipped Option Utility Circuit #2, Duplex Receptacle	\$ 33.00	\$66.00
5	2	CE8RDA	Skipped Option Dedicated Circuit A, Duplex Receptacle	\$ 33.00	\$66.00
6	2	CE8RDB	Skipped Option Dedicated Circuit B, Duplex Receptacle	\$ 33.00	\$66.00



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
			Skipped Option		
7	6	CHC15L	15" Left Cantilever, Mounting Bracket Included	\$ 50.00	\$300.00
			STD Standard Paint Finishes Skipped Option Skipped Option		
8	6	CHC15R	15" Right Cantilever, Mounting Bracket Included	\$ 50.00	\$300.00
			STD Standard Paint Finishes Skipped Option Skipped Option		
9	6	CHCB2	Corner Bracket, Left and Right, Sold as a Pair	\$ 22.00	\$132.00
			STD Standard Paint Finishes Skipped Option Skipped Option		
10	4	CHFB1	Flat Bracket (Available in Black Only)	\$ 21.00	\$84.00
11	4	CHP42-2	Skipped Option 42"h, 2-Way, Universal Corner Post (With All Clips), Post Trims, Post Base Cap	\$ 115.00	\$460.00
			STD Standard Paint Finishes		



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
			Skipped Option		
			Skipped Option		
12	2	CHP42-3	42"h, 3-Way, Universal Corner Post (With All Clips), Post Trims, Post Base Cap	\$ 101.00	\$202.00
			STD Standard Paint Finishes		
			Skipped Option		
			Skipped Option		
13	1	CHP42-4	42"h, 4-Way, Universal Corner Post (With All Clips), No Post Trims, No Post Base Cap	\$ 82.00	\$82.00
			STD Standard Paint Finishes		
			Skipped Option		
			Skipped Option		
14	8	CHWB1	Mid Span Support Bracket (Unfinished Zinc), Can Only be Specified on Segmented Panels	\$ 14.00	\$112.00
			Skipped Option		
15	2	CMDAOH48	48"w x 14.12"d x 15"h, Center Mount Laminate Overhead, Top Mount on Panels, Support Brackets Included	\$ 1,273.00	\$2,546.00
			Skipped Option Skipped Option Skipped Option		
16	6	CMET42	42"h, End of Run Trim Insert for Panel	\$ 21.00	\$126.00



ITEM	QTY.	PRODUCT CODE			LIST	EXTENDED
			STD	Standard Paint Finishes		
				Skipped Option		
			•••	Skipped Option		
17	2	CMFF4248N0	42"h x 48 Cover No	"w, Segmented Fabric Panel, Non-Powered, Raceway Punch (2)	[/] \$ 555.00	\$1,110.00
			STD	Standard Paint Colors		
				Skipped Option		
				Skipped Option		
				Skipped Option		
				Skipped Option		
				Skipped Option		
				Skipped Option		
18	2	CMFM4224P2		"w, Monolithic Fabric Panel, Power Harness, Cover With Punch (2)	\$ 519.00	\$1,038.00
			STD	Standard Paint Colors		
				Skipped Option		
				Skipped Option		
				Skipped Option		
			•••	Skipped Option		
19	4	CMFM4230N0		"w, Monolithic Fabric Panel, Non-Powered, Raceway Punch (2)	\$ 412.00	\$1,648.00
			STD	Standard Paint Colors		
				Skipped Option		
				Skipped Option		
				Skipped Option		
				Skipped Option		



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
20	8	CMFM4236N0	42"h x 36"w, Monolithic Fabric Panel, Non-Powered, Raceway Cover No Punch (2)	\$ 447.00	\$3,576.00
			STD Standard Paint Colors Skipped Option Skipped Option Skipped Option		
21	2	CMFM4248P2	Skipped Option 42"h x 48"w, Monolithic Fabric Panel, Power Harness, Raceway Cover With Punch (2)	\$ 764.00	\$1,528.00
22	2	CMPS24	STD Standard Paint Colors Skipped Option Skipped Option Skipped Option Skipped Option Skipped Option 12"h x 24"w, Privacy Panel, w/Aluminum Clamps, Glass	\$ 295.00	\$590.00
22	-	OM 024	Skipped Option	¥ 235.50	\$330.00
23	4	CMPS30	Skipped Option 12"h x 30"w, Privacy Panel, w/Aluminum Clamps, Glass	\$ 313.00	\$1,252.00
			Skipped Option Skipped Option		



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
24	8	CMPS36	12"h x 36"w, Privacy Panel, w/Aluminum Clamps, Glass	\$ 330.00	\$2,640.00
			China ad Ontion		
			 Skipped Option Skipped Option		
25	•	CMPS48	12"h x 48"w, Privacy Panel, w/Aluminum Clamps, Glass	\$ 350.00	¢700.00
25	2	CMP546		\$ 35U.UU	\$700.00
			Skipped Option		
			Skipped Option		
26	11	CMRCB01	Cutout Cover for Raceway Cutout Opening	\$ 17.00	\$187.00
			Skipped Option		
			Skipped Option		
27	4	CWS2448P	48"w x 24"d, Rectangular Worksurface with 3mm PVC Edge Trim 1" Thick, Std with 2 Scoops	\$ 258.00	\$1,032.00
			.,		
			LP Thermally Fused Laminates 1" Thickness Skipped Option		
			Skipped Option Skipped Option		
			Skipped Option		
			Skipped Option		
28	4	CWS2472P	72"w x 24"d, Rectangular Worksurface with 3mm PVC Edge Trim 1" Thick, Std with 2 Scoops	\$ 367.00	\$1,468.00
			LP Thermally Fused Laminates 1" Thickness Skipped Option		
			Sкірреа Option		



ITEM	QTY.	PRODUCT CODE			LIST	EXTENDED
				Skipped Option		<u> </u>
				Skipped Option		
				Skipped Option		
GCU						
29	4	CU1517		4.5"w x 1.5"h, Cushion for 19"d Mobile Box/File	\$ 145.00	\$580.00
			Pedestal,	SIDEBAR	,	*******
			~01	Grade 01		
			•••	Skipped Option		
				Skipped Option		
30	4	S1619MP	Locking, lı	w x 25"h, Mobile Box/File Pedestal w/ Handles, nset Top, Can Accommodate Letter & Legal hanging nterweight, Front Casters Locking, SIDEBAR	\$ 989.00	\$3,956.00
			~SBTop	SidePar Laminata Tan Einighag		
				SideBar Laminate Top Finishes Skipped Option		
			 ~SBB	SideBar Laminate Base Finishes		
				Skipped Option		
			~SBSF	SideBar Storage Door/Drawer Front Finishes		
				Skipped Option		
			•••	Skipped Option		
			 K-STD	C-Key Random (STD)		
				Skipped Option		
				Skipped Option		
31	4	Z16M2ES	19.3"d x 1	6"w x 28.5"h, Storage Shell w/2 File Drawers, ZIRA	\$ 741.00	\$2,964.00
			~ZBSE	Zira Storage Base Finishes		
				Skipped Option		
			~HAN	Handle Option (Required)		
				Skipped Option		
			K-STD	C-Key Random (STD)		
				Skipped Option		



ITEM QTY. PRODUCT CODE LIST EXTENDED

ALIAS SUBTOTAL: \$ 29,584.00



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
CPL			Global CM505-W 8-Pack		
32	7	CE8CP17	17" Mesh Jumper	\$ 120.00	\$840.00
33	1	CE8FR1	Skipped Option 72" Long, Reversible Floor Power Entry	\$ 347.00	\$347.00
34	4	CE8RD1	Skipped Option Utility Circuit #1, Duplex Receptacle	\$ 33.00	\$132.00
35	4	CE8RD2	Skipped Option Utility Circuit #2, Duplex Receptacle	\$ 33.00	\$132.00
36	4	CE8RDA	Skipped Option Dedicated Circuit A, Duplex Receptacle	\$ 33.00	\$132.00
37	4	CE8RDB	Skipped Option Dedicated Circuit B, Duplex Receptacle	\$ 33.00	\$132.00



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
			Skipped Option		
38	12	CHC15L	15" Left Cantilever, Mounting Bracket Included	\$ 50.00	\$600.00
39	12	CHC15R	STD Standard Paint Finishes Skipped Option Skipped Option 15" Right Cantilever, Mounting Bracket Included	\$ 50.00	\$600.00
40	12	CHCB2	STD Standard Paint Finishes Skipped Option Skipped Option Corner Bracket, Left and Right, Sold as a Pair	\$ 22.00	\$264.00
41	8	CHFB1	STD Standard Paint Finishes Skipped Option Skipped Option Flat Bracket (Available in Black Only)	\$ 21.00	\$168.00
42	4	CHP42-2	Skipped Option 42"h, 2-Way, Universal Corner Post (With All Clips), Post Trims, Post Base Cap	\$ 115.00	\$460.00
			STD Standard Paint Finishes		



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
			Skipped Option		
			Skipped Option		
43	4	CHP42-3	42"h, 3-Way, Universal Corner Post (With All Clips), Post Trims, Post Base Cap	\$ 101.00	\$404.00
			STD Standard Paint Finishes Skipped Option Skipped Option		
44	3	CHP42-4	42"h, 4-Way, Universal Corner Post (With All Clips), No Post Trims, No Post Base Cap	\$ 82.00	\$246.00
			STD Standard Paint Finishes Skipped Option Skipped Option		
45	16	CHWB1	Mid Span Support Bracket (Unfinished Zinc), Can Only be Specified on Segmented Panels	\$ 14.00	\$224.00
			Skipped Option		
46	4	CMDAOH48	48"w x 14.12"d x 15"h, Center Mount Laminate Overhead, Top Mount on Panels, Support Brackets Included	\$ 1,273.00	0 \$5,092.00
			 Skipped Option Skipped Option Skipped Option		
47	12	CMET42	42"h, End of Run Trim Insert for Panel	\$ 21.00	\$252.00



ITEM	QTY.	PRODUCT CODE			LIST	EXTENDED
			STD	Standard Paint Finishes		
				Skipped Option		
				Skipped Option		
48	4	CMFF4248N0	42"h x 48 Cover No	"w, Segmented Fabric Panel, Non-Powered, Raceway Punch (2)	^y \$ 555.00	\$2,220.00
			STD	Standard Paint Colors		
				Skipped Option		
				Skipped Option		
				Skipped Option		
				Skipped Option		
				Skipped Option		
				Skipped Option		
49	4	CMFM4224P2		"w, Monolithic Fabric Panel, Power Harness, Cover With Punch (2)	\$ 519.00	\$2,076.00
			STD	Standard Paint Colors		
				Skipped Option		
			•••	Skipped Option		
			•••	Skipped Option		
			•••	Skipped Option		
50	8	CMFM4230N0	42"h x 30 Cover No	"w, Monolithic Fabric Panel, Non-Powered, Raceway Punch (2)	\$ 412.00	\$3,296.00
			STD	Standard Paint Colors Skipped Option		
				Skipped Option		
				Skipped Option		
				Skipped Option		
			•••	-mpp-2 opno.		



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
51	12	CMFM4236N0	42"h x 36"w, Monolithic Fabric Panel, Non-Powered, Raceway Cover No Punch (2)	\$ 447.00	\$5,364.00
			STD Standard Paint Colors		
			Skipped Option		
			Skipped Option		
			Skipped Option		
			Skipped Option		
52	4	CMFM4248P2	42"h x 48"w, Monolithic Fabric Panel, Power Harness, Raceway Cover With Punch (2)	\$ 764.00	\$3,056.00
			STD Standard Paint Colors		
			Skipped Option		
			Skipped Option		
			Skipped Option		
			Skipped Option		
53	4	CMPS24	12"h x 24"w, Privacy Panel, w/Aluminum Clamps, Glass	\$ 295.00	\$1,180.00
			Skipped Option		
			Skipped Option		
54	8	CMPS30	12"h x 30"w, Privacy Panel, w/Aluminum Clamps, Glass	\$ 313.00	\$2,504.00
			Skipped Option		
			Skipped Option		



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
55	12	CMPS36	12"h x 36"w, Privacy Panel, w/Aluminum Clamps, Glass	\$ 330.00	\$3,960.00
			Skipped Option		
			Skipped Option		
56	4	CMPS48	12"h x 48"w, Privacy Panel, w/Aluminum Clamps, Glass	\$ 350.00	\$1,400.00
			Skipped Option		
			Skipped Option		
57	23	CMRCB01	Cutout Cover for Raceway Cutout Opening	\$ 17.00	\$391.00
			Skipped Option		
			Skipped Option		
58	8	CWS2448P	48"w x 24"d, Rectangular Worksurface with 3mm PVC Edge Trim 1" Thick, Std with 2 Scoops	\$ 258.00	\$2,064.00
			LP Thermally Fused Laminates 1" Thickness		
			Skipped Option		
			Skipped Option		
			Skipped Option		
			Skipped Option		
59	8	CWS2472P	72"w x 24"d, Rectangular Worksurface with 3mm PVC Edge Trim 1" Thick, Std with 2 Scoops		\$2,936.00
			LP Thermally Fused Laminates 1" Thickness Skipped Option		



ITEM	QTY.	PRODUCT CODE			LIST	EXTENDED
				Skipped Option		
				Skipped Option		
			•••	Skipped Option		
GCU						
60	8	CU1517	16.5"d x 14.5"w x 1.5"h, Cushion for 19"d Mobile Box/File Pedestal, SIDEBAR		\$ 145.00	\$1,160.00
			~01	Grade 01		
				Skipped Option		
				Skipped Option		
61	8	S1619MP	\$ 989.00	\$7,912.00		
			~SBTop	SideBar Laminate Top Finishes		
				Skipped Option		
			~SBB	SideBar Laminate Base Finishes		
				Skipped Option		
			~SBSF	SideBar Storage Door/Drawer Front Finishes		
				Skipped Option		
				Skipped Option		
			K-STD	C-Key Random (STD)		
				Skipped Option		
62	8	Z16M2ES	19.3"d x 1	6"w x 28.5"h, Storage Shell w/2 File Drawers, ZIRA	\$ 741.00	\$5,928.00
			~ZBSE	Zira Storage Base Finishes		
			•••	Skipped Option		
			~HAN	Handle Option (Required)		
				Skipped Option		
			K-STD	C-Key Random (STD)		
				Skipped Option		



ITEM QTY. PRODUCT CODE LIST EXTENDED

ALIAS SUBTOTAL: \$55,472.00

TOTAL EXTENDED LIST: \$85,056.00